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QUESTION 1

To potentially reduce table extent interleaving, an Informix administrator would execute which storage optimization
operation? 

A. Shrink 

B. Repack 

C. Compress 

D. Defragment 

Correct Answer: D 

 

QUESTION 2

Which two parameters are mandatory when running "ifxclone"? (Choose two.) 

A. Target server instance size. 

B. Target server instance name. 

C. Source server instance sqlhosts. 

D. Target server configuration parameters. 

E. Source server instance TCP/IP address. 

Correct Answer: BE 

 

QUESTION 3

Which command line utility does NOT have the equivalent functionality using the SQL Administration API? 

A. oninit 

B. onmode 

C. onspaces 

D. onparams 

Correct Answer: A 

 

QUESTION 4

What kinds of Table Level Restores can be done by the archecker utility? 
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A. Only logical restore. 

B. Only physical restore. 

C. Only point in time restore. 

D. Physical, logical, and point in time restores. 

Correct Answer: D 

 

QUESTION 5

Which one keyword in this query makes the AVG an OLAP window expression instead of the regular aggregate
operator? SELECT AVG(SUM(dollars)) OVER() FROM sales; 

A. SUM 

B. OVER 

C. FROM 

D. AVG (SUM(dollars)) 

Correct Answer: B 
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